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https://chenhsuantu.github.io/1092SA

Lab 3 1. MANEHRKERLES - STERXELEAHK - B

2. KEEITEIE (TOWN/TOWN_ID) =T - * Taipei_Vill.shp
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CRS HH}A TPE = st _transform(TPE, 3826)
TPE = st _transform(TPE, st crs(TWN))

* EPSG: 3826
TWD97 / TM2 zone 121
https://epsg.i10/3826
* EPSG: 4326
WGS 84
https://epsg.i10/4326




Boundary Box st_bbox()

> st _bbox(TPE)
Xmin ymin Xmax ymax
296094.4 2761518.3 317198.9 2789179.6

Fishnet st _make_grid(sf )
st _make_grid(TPE) st _make grid(TPE,1000)
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Convert to sf object st_sf(grid)
st_sf(grid,ID=1:1length(grid))




%>% TPE %>% st_bbox #[&] st bbox(TPE) f
Dissolve TOWN=VILL %>% group_by(TOWN) %>% summarise ) H | :?j ‘)'\b
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TOWN=VILL %>% group_by(TOWN) %>% summarise(POP=sum(CENSUS)) _. FElE |
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e.g. length T
VILLAGE TOWN CENSUS # A tibble: 12 x 1 # A tibble: 12 x 2
1 HEEE AFE 7438 TOWN TOWN POP
2 EIEE f&FE 3852 <chr> <chr> <db 1>
3 BIBEE ~HEE 2027 T TFkE 290688
4 BERE RFEE 10389 A[EIE AEIE 130991
5 EEFEE HEE 4696 EE FEFE 314361
6 REE AEFE 8974 PG TLUE 230990
7 EFE AZFE 6018 PIEE TEE 163447
8 ¥R AFEE 5714 % FEE 286696
9 WEE FZEE 7865 prafjt ILIE 274903
10 ZZFIE AFE 5042 1HF & 1H#%E 257783
11 EZFE AFE 5260 FALLTE fALLE 210648
12 ZEE AFE 6602 EEE [E=E 229605
=EE EEE 121640

EEE EZE[E 194278



Intersection
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st_intersection(TOWN,grid)

TOWN$area =
TG =

st _area(TOWN)
st _intersection(TOWN, grid)

TG$area.in = st _area(TG)
TG$pop.in = TG$POP*TG$area.in/TG$area
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? as.integer vs. round
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# A tibble: 126 x 4
TOWN POP area ID
<chr> <db 1> [mA2] <int>
CLUE 274903 31219238 5
IE 274903 31219238 6
L& 274903 31219238 7
CLUE 274903 31219238 8
EZ=E[E 194278 7480598 12
FZFE 314361 11331460 14
HIEE 163447 7408349 14
IE 274903 31219238 14
FZFE 314361 11331460 15
TIE 274903 31219238 15
TOWN grid
# A tibble: 126 x 4
POP area area.in pop.in
<db 1> [mA2] [mA2] <7int>
274903 31219238 1301261.50 11458
274903 31219238 4778710.75 42079
274903 31219238 4985635.47 43901
274903 31219238 1601433.58 14101
194278 7480598 76277 .68 1981
314361 11331460 64120.28 1778
163447 7408349 71121.51 1569
274903 31219238 1728049.21 15216
314361 11331460 263316.82 7305
274903 31219238 5423815.18 47759
# ... with 116 more rows



Link Data TG » grid
NEW.G=TG%>% group by(ID) %>% summarise(POP=sum(pop.in))
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# A tibble: 68 x 2 A by
ID POP o] )
<TNt> <Tnt> y
5 11458 IS ¥
6 42079 Sy ™

7 43901 P

8§ 14101 -ﬁ
12 1981 ' e

grid$POP[NEW.G$ID] = NEW.G$POP L

TG » TOWN
NEW.T =TG%>% group by (TOWN) %>% summarise(total=length(TOWN))

TOWN$count[NEW.T$TOWN] = NEW.T$total

# A tibble: 12 x 2

TOWN total
<chr> <int>
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HW3 Q: AREHFETHEEEESNBE

1. EREREREHII(REE
Ho:pqy — 42 =0 Hyipg —pp >0 (a=0.05)
2. 5TEHE=E
MtesF9ZE - taE
3. L& p — value B o (HERREREREEE]) TFEELE
4. IERBERRER 7
p—value<a — 1EB#8H,

p—value>a — &XH,

+=A
5- 1ha A

> t.test(A,B,alternative="greater",paired=F,var.equal=T,conf.level=0.95)




HW3 Hy — U * Hypothesis Testing of u, — U,

known
» z-test
z.test()*
lunknown
wilcoxon > wilcox.test(A,B,alternative="greater",exact = F)
) . . t() N r.ank_sum test Wilcoxon rank sum test with continuity correction
snapiro.test() - oo ommTTTo c data: A and B
r<a (Mann'Wh 1tney wa=a225.5?np—va7ue = 0.6946
alternative hypothesis: true Tocation shift is greater than 0
, U test)
>qa 'normal or n>30
p ; WilCOX . test () > t.test(A,B,alternative="greater"”,var.equal = F)
t . test Welch Two Sample t-test
l data: A and B
t = -0.61475, df = 42.502, p-value = 0.729
alternative hypothesis: true difference in means 1is greater than O
95 percent confidence interval:
-2.646442 Inf
0-12 7‘: 0-22 we].Ch t‘test sample estimates:
Var\.test() —> mean of x mean of y
p<a (unpooled) 6.923077 7.631579

> t.test(A,B,alternative="greater”,var.equal = T)

F) Two Sample t-test

t.test(var.equal

data: A and B
t = -0.59458, df = 43, p-value = 0.7224

2 2 alternative hypothesis: true difference in means is greater than 0
01 = 0y - Student t—test 9§2p§£§-zr;‘5c com"idiz;e interval:
- sample estimates:
(pOO]'ed) mean of x mean of y

6.923077 7.631579

t.test(var.equal = T)


http://www.r-web.com.tw/stat/step1.php?method=two_sample_rank_sum_test

HW3

* Hypothesis Testing of ; — U, when o and a%are unknown.

Assume of = o5 = S > pooled

t=(fl_22)_0~t(n +n,—2) 52=(7l1—1)512+(712—1)5§
1 1 1 2 ’ p n1+n2—2
Sp n_1+n_2

Assume o # o3 - unpooled

2
2,5
(.7?1 - .7?2) -0 ny n;
=@, df =
2 2 S S
np N +
ny — 1 np; — 1

Hy:02 = 0f Hy:0f # 05 (a = 0.05)

MEEEENL - FRT S ar s e,

F test to compare two variances
> var.test(A,B)

data: A and B

Sf F = 1.5307, num df = 25, denom df = 18, p-value = 0.3553
F = - F (711 - 1,712 - 1) alternative hypothesis: true ratio of variances is not equal to 1
2 95 percent confidence interval:

0.6144293 3.5788918
sample estimates:
. ratio of variances
* P.S. Bn,=n,FF-> MBRE 1.530676

« P.S. —#iA0.5<s;/s,<2fpooled » HRxFunpooled



HW4 HW4 #teiZ% | BEE R EF 8D
(Mld 1) #HH type stores seats
1 (l)gl]i%z'zéfﬁ ## 1 private s 4260
10% (2)@1@%&$J—.EEE ## 2 public 82  Ans

## type
##  private

1@72. (1) BB EME(587£0.039~0.2132[) #  public
T QEEEEEREEREFR
*xtabs()EXEERF

AR

0.040 to 0.047
0.047 to 0.065
0.065 to 0.086

0.00t0 0.05 0.09 to 0.107
0.05t0 0.10 0.107 0 0.123
0.10t0 0.15 0.12310 0213
E’éa L
3. (l)8FEﬁ/J\q—E’\JﬁL§ 0.1500.20
0.20t00.25

2% )EaE A

*Z Forder()

H#HHTE © which.max

x=SC$store

ids=c()

for(i in 1:8){
id=which.max(x)
x[1id]=NA
ids=c(ids,id)

}

all(ids==order(SC$store,decreasing=T)[1:8])

## [1] TRUE
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Loy 4-1. EAREIERE
10% 4-2. (1)BRERBEDS R
(2)7) HANOVA#ZR =
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